i . . ; ; . Question Type : MCQ
A ball kept at 20 m height falls freely in downward direction vertically and hits the Question ID : 37135117342

a5 a : " . Option 11D ; 37135169366
ground. The coefficient of restitution is 0-4. After the first rebound the upward Option 2 ID : 37135169367

- Option 3 ID : 37135169365
velocity is [ g = 10 m/s?] Option 4 ID : 37135169368

Status . Answered
8m/s

Chosen Option : 2

12 m/s

4m/s
16 m/s

L]




Q.2

Ans

In resonance tube of length 0-8 m, air column vibrates with a source of frequency DUSS“UTI T‘ﬂi’; |
uestion
375 Hz for a certain height of water from bottom of the tube. Water level SP?G” ; :Ei
ption
corresponding to fundamental frequency is Option 31D |
Option 4 1D
(Neglect end correction, speed of sound in air = 330 m/s) Status :

Chaosen Option :

045 m

vz (0-58m

A )-8 1

0:65 m

X

MCQ

37135117339

37135169353

0 37135169354

37135169356

: 37135169355

Answered
2
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Q.3 Question Type : MCQ

If the radius of a planet is ‘R" and density ‘Q’, then the escape velocity V.’ of any Question ID : 37135117309
x " . : Option 11D ; 37135169233
body from its surface will be proportional to Option 2 1D : 37135169234

Option 3 ID ; 37135169235
Option 4 ID ;: 37135169236
Status : Answered

x 1 Q R Chosen Option ; 2

Ans

x: ¥
R

JRQ

L]
X4 \/a
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Q.4 Question Type : MCQ

Question ID ; 37135117320
Option 1 1D : 37135169280
Option 2 ID ;: 37135169277
Option 3 ID : 37135169279
Option 4 ID : 37135169278

What is the capacitance between the points P’ and ‘Q" in the combination of

capacitors shown in figure?

| | Status . Answered
| | Chosen Option : 1
1-5uF
L ‘ Q
| |
3 uF 3nk
| |
| |
1-5nF

Ans

v 1UF
X+ 9 UF

X* 2 UF

X< 7 UF
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Q.5 Question Type : MCQ

In common emitter configuration of a transistor, current gain is more than 1 Question ID : 37135117304
_ _ Option 11D : 37135169213
because [I, [ and I. are base, emitter and collector currents respectively] Option 2 ID : 37135169214
Option 3 1D : 37135169215
Ans Option 4 1D : 37135169216
Status : Answered
X1 L:. < Ib Chosen Option ; 2
X2 Jp <le
xXs o Je<le
vi Je>1b
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Q.6

Ans

In hydrogen spectrum, the wavelengths of light emitted in a series of spectral lines

is given by the equation,

L_g(
A\

1 1
i —), wheren= 5,6, 7 i and ‘R"is Rydberg’s constant. Identify the

2 n<

series and wavelength region.

X 1.

Pfund, near infrared

x> Brackett, infrared

xs Pfund, far infrared

o ¢

Brackett, near infrared

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117328
37135169309
37135169312
37135169311
37135169310
Answered

2
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Q.7

Ans

Question Type :

It we add 3 kg load to the hanger of sonometer, the fundamental frequency Question ID :
Option 11D ;

becomes two times its initial value. The initial load must be Option 21D
Option 3 1D ;

Option 4 1D ;
Status :

X 1 2 kg Chosen Option :
1-5 kg
2*5 kg

X

X

v+ 1Kkg

MCQ
37135117344
37135169375
37135169374
37135169376
37135169373
Answered

2
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Q.8

InAY . . . Question Type :
A man of mass ‘M’ is standing on the platform. The platform is executing S.H.M. of GiisrResnn

: 37135169361
: 37135169364
: 37135169363
: 37135169362

Status :
Ans

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

frequency ‘f’in vertical direction. The span of oscillation is ‘L. Then the

acceleration of the platform at the top of the oscillation is

Chosen Option

x+ 4Tr4f4L

oy Lt i
M
ATT4 2L,

M
v 2m4f4L

MCQ

Answered

c 2
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Q.9

Ans

A charge ‘Q’ UCis placed at the centre of a cube. The flux through one face and two

opposite faces of the cube is respectively

- Q Q
. 660 uvm’ 360 va

Q Q
1260 uvm l €0 uvm

Q Q
X3 ™ Uvm ,

9 v,

1260

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117306
37135169222
37135169224
37135169223
37135169221
Answered

2
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Q.10

Ans

; . ; . ; i S Q ion T :
A pendulum pEl‘fDl‘mSg S.H.M. with period V3 second in a stationery lift. If lift moves ”;120:?;
up with acceleration =, the period of pendulum is Option 11D :
3 Option 2 1D
|g = acceleration due to gravity| Option 3 ID
| Option 4 1D
Status
Chosen Option :
x1 2:00 second

v 1:5second

73 2.5 second

X+ 1.75second

MCQ

37135117329

37135169314

: 37135169316
37135169313
: 37135169315
- Answered

4
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Q.n

A toroid is a long coil of wire wound over a circular core. If ‘1" and ‘R’ are the radii Guestion: Type:; MCQ
| Question ID : 37135117318

of the coil and toroid respectively, the coefficient of self-induction of the toroid is Option 11D : 37135169272
Option 2 ID : 37135169270

(The magnetic field in it is uniform and R >>r) Option 3 1D ; 37135169271
Option 4 ID : 37135169269

(N = number of turns of the coil and [l = permeability of free space) Status : Answered

Chosen Option ; 2
Ans
5 2
_ Hol
- Y
N2R
2p2
HoN“R
X 2.
2T
2p2
- peN-°R
o 3

2R

~. _HoR

2N24r?
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Q.12

Ans

. . . . ; Q ion Type :

A light travels through water in the beaker. The height of water column is ‘h’. U;ilzm: =
: . i " ; . . . . ) Option 11D ;
Refractive index of water is ‘u,,’. If C is velocity of light in air, the time taken by Option 2 ID
Option 3 1D ;

light to travel through water will be Option 4 ID
Status :
h Chaosen Option :

Hw
J ——

& hi.C

MCQ

0 37135117348

37135169391

0 37135169390

37135169392

1 37135169389

Answered
1
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Q.13

Ans

Q.14

Ans

The compressibility of water is 6 x 107! m?/N. If one litre of water is subjected

to a pressure of 4 x 107 N/m?, then the decrease in its volume in millilitre will be

X1

X 4

In light emitting diode (LED), light is given out due to

il

x 1

X

10
20

24

15

drifting ot electrons.
diffusion of holes.

recombination of holes and electrons.

emission of holes and electrons.

Question Type :
37135117321
: 37135169281
1 37135169283
37135169284
: 37135169282
- Answered

Chosen Option :

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status

Question Type

Option 11D
Option 2 ID

Option 4 1D
Status

MCQ

3

- MCQ
Question 1D :

37135117340

. 37135169357
- 37135169358
Option 3 1D :

37135169359

: 37135169360
C Answered
Chosen Option :

3
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Q.15 Question Type : MCQ

The deflection in moving coil galvanometer of resistance 45 falls from Question ID : 37135117308
o 0w e " . . Option 11D ; 37135169231
30 divisions to 3 divisions. The length of the shunt wire required to convert Option 2 1D : 37135169230
_ Option 3 1D ; 37135169229
galvanometer to ammeter is Option 4 ID : 37135169232
. o . : 5 : oy Status : Answered
[specific resistance of material of shunt wire = 5 x 107" (0 m and area of cross- Chosen Option : 3

section of wire =4 x 1077 m?|

" ¢ 4m
X2 6m
X3 8m
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Q.16 Question Type : MCQ

LetP=1Psin® — jPcos 6, be any vector. Another vector Q which is perpendicular i [ Sy

_ Option 1 1D : 37135169228
to P Is Option 2 ID : 37135169225
- Option 3 ID : 37135169226
o P Option 4 ID : 37135169227

x 1. (1 Q S In 6 + ] Q C OS 8) Status : Answered

Chosen Option : 3

v+ (1QcosB+ j Qsin0)

 (1QcosB — j QsinB)

5

X

I

X

- (1Psin®+ j Pcos0)
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Q.7

Ans

Q.18

Ans

Modulation is a process of superposing

X1
low frequency radio signal on low frequency audio waves.

X 2
high frequency audio signal on low frequency radio waves.

v :
low frequency audio signal on high frequency radio waves.
X 4

high frequency radio signal on low tfrequency audio signal.

An electron at rest is accelerated by a potential ‘V1’, in uniform magnetic field
experiences a force ‘Fi'. When potential is changed to ‘V2', the force experienced

by the electron gets doubled. The ratio of Vi to Vz is

P

4:1

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 11D :
Option 2 1D
Option 3 1D ;
Option 4 1D :

Status :

Chosen Option :

MCQ
37135117350
37135169397
37135169400
37135169398
37135169399
Answered

3

MCQ
37135117317
37135169265
37135169266
37135169267
37135169268
Answered

3
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Q.19

Ans

Question Type :
1 37135117346

When a capillary tube is immersed in water vertically, water rises to a height ‘b’ Question ID
rd Option 11D :
inside the tube. If the radius of another capillary tube is = that of the previous, the Satans 1D
Option 3 1D ;
. . k . . . . Option 4 ID :
height to which water will rise in this tube, is i

Chaosen Option :

il 8

X 2 h\/§.

N 3

h
2

v+ 3h.

MCQ

37135169382

1 37135169384

37135169381
37135169383

Answered

4
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Q.20

1-2A

Question Type :
The value of current ‘I’ in the given current distribution is g O L
© 37135169202
0 37135169203
0 37135169201
0'2 A Status ;

Chaosen Option :

Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

1-0A

Ans

X 1. 2'2A

v: 15A

X

1:9A
X+ 02A

MCQ
37135117301

Answered
2
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Q.21

Ans

Two students X and Y perform potentiometer experiment separately and null

point was obtained as shown in diagram. During the experiment,

(i) X increases the value of R (resistance)
(ii) Y decreases the value of S (resistance)without any other change

The position of null point obtained by students X and Y respectively
K
+ ] L 3
[HI - R ()
Al - S
} +| I_l @j
|
— g _()__
K1

x + would shift towards A by both Xand Y

N3
would shitt towards point A, would shift towards B

xs would shift towards B by both Xand Y

e

would shift towards point B, would shitt towards A

Question Type :
37135117330
: 37135169319
: 37135169318
: 37135169320
: 37135169317

Status .
Chosen Option :

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

MCQ

Answered
2
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Q.22

Ans

Two ideal gases A and B having the same temperature T, same pressure P and

same volume V, are mixed together. If the temperature of mixture is kept constant Sriand I

and the volume occupied by the mixture is reduced to £ then the pressure of the

mixture will become

P
xi =

Question Type :
Question ID ;
Option 11D ;

: 37135169250
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117313
37135169249

37135169252
37135169251
Answered

3
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Q.23

Ans

A torque of 1:732 x 107> Nm is required to hold a magnet at 90° with the

horizontal component of earth’s magnetic field. The torque required to hold it at

60° will be [sinT = 1,sin = = | [V3 = 1-732]

v 1-5x10‘5Nm
X2 1x 107> Nm
xs 1:732x107°> Nm

X 4. 0'5X10_5 Nm

Question Type :
37135117312
: 37135169246
1 37135169247
37135169245
: 37135169248
- Answered

Chaosen Option :

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status

MCQ

3
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Q.24
A light of wavelength ‘ll’ and velocity C, travels from the first medium of

wavelength and velocity of light in the second medium is ‘A’ and C, respectively.

The refractive index of second medium with respect to first medium is given by

Ans

C2
X.

Question Type :
Question ID ;
Option 11D ;

refractive index ‘ll;" into the second medium of refractive index ‘l,’. The Option 2 1D :
Option 3 1D ;
Option 4 1D ;

Status :
Chaosen Option :

MCQ
37135117327
37135169308
37135169305
37135169307
37135169306
Answered

3
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Q.25 C—tz

: Question Type : MCQ
In the equation, pressure P =

, S and t represent the distance and time Question ID ; 37135117302
Option 1 1D : 37135169206
Option 2 1D : 37135169205
Option 3 ID : 37135169207
Option 4 ID : 37135169208

Status : Answered
Ans Chosen Option : 3

v [LOM1T2]

D
respectively. The dimensions of (E) are

L0 ML T1]
xs [L!M-1T=2]

X

[L! M! T2
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Q.26

Two discs having moment of inertia I1 and 12 are made from same material have Sasslion lypsyMes
Question ID ; 37135117324

Option 11D : 37135169293
Option 2 ID ; 37135169296
Option 3 1D : 37135169294
Option 4 ID : 37135169295
Status : Answered
Chosen Option : 4

same mass. Their thickness and radii are ti, t2 and Ri1, Rz respectively. The relation
between moment of inertia of each disc about an axis passing through its centre

and perpendicular to its plane and its thickness is

Ans

v lii=ht

X 2 Il t% — 12 t%

X

It =12 11

oo

X

I t% = Izt
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Q.27

Ans

Q.28

Ans

[f “T" is the surface tension of a soap solution, then the work done in blowing a soap

bubble from diameter ‘D’ to diameter ‘2D’ is

X

X

X

The ratio of intensities of two waves producing interference is 9 : 4, then the ratio

of the resultant maximum and minimum intensities will be (COS ; =

ki

2TUTD?
4TTD>

8TITD?

6TtTD-?

x.4:9

2

9:4

1

2

)

Question Type :
37135117305
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Question 1D

Status

Chosen Option :

Question Type

Status

MCQ

37135169220
37135169219
37135169217
37135169218

Answered

1

. MCQ
Question ID :
Option 11D :
Option 2 1D ;
Option 31D ;
Option 4 1D :

37135117315
37135169260
37135169258
37135169257
37135169259

. Answered
Chosen Option :

1
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Q.29 Question Type : MCQ

Question 1D : 37135117347
Option 11D ; 37135169387

—
A block of mass ‘m’ moving along a straight line with constant velocity 3V collides

with another block of same mass at rest. They stick together and move with Option 2 1D : 37135169386
Option 3 ID : 37135169385
common velocity. The common velocity is Option 4 ID - 37135169388
Status ; Answered
Ans 3 v Chosen Option : 3
o —

2

x: 2V .
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Q.30

Ans

A photon of wavelength 3315 A falls on a photocathode and an electron of energy

3x 107 is ejected. The threshold wavelength of photon is [Planck’s constant (h)
= 6:63 x 107** J-s, velocity of light (¢) = 3 x 10* m/s]

X

X

X

w

o

6630 A
3315 A

o

5000 A

1130 A

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117325
37135169297
37135169298
37135169300
37135169299
Answered

2
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Q.31 Question Type : MCQ

A particle of mass ‘m’ moves along a circle of radius ‘r’ with constant tangential Question ID : 37135117349
; . . S . . . Option 11D ; 37135169395
acceleration. If Kinetic energy ‘E’ of the particle becomes three times by the end of Option 2 1D : 37135169393
: : ; : " : . . ' Option 3 ID : 37135169394
third revolution after beginning of the motion then the magnitude of tangential Option 4 ID : 37135169396

Status : Answered
Chosen Option ; 2

acceleration is

Ans E

121Trm

N
3TTrm
E
W °
6TII'M
E
X 4
24TTrm
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Three point masses, each of mass ‘m’ are placed at the corners of an equilateral

triangle of side ‘€’. The moment of inertia of the system about an axis along any

Question Type :
1 37135117334

Question ID
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

MCQ

37135169333
37135169334
37135169335
37135169336

one side of the triangle is Status |

Chosen Option : 1

Answered

Ans
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Q.33 Question Type : MCQ

Question ID ; 37135117319
Option 11D : 37135169274
Option 2 1D : 37135169276
Option 3 ID : 37135169275
Option 4 ID : 37135169273

pipe. The initial tension in the wire is St Answered
Chosen Option : 2

A stretched unitorm wire of length L under tension T is vibrating with frequency
n'. A closed pipe of same length is also vibrating with same tundamental frequency

m’. If T is increased by 16 N, it is in resonance with 2 harmonic of same closed

SN
70 2N
xs 15N
X+ 05N

The ratio of length of two wires of same material is 1:2 and the ratio of their radii AESIaI e B
Question ID : 37135117314
Option 1 1D : 37135169256
Option 2 ID : 37135169255
Option 3 1D ; 37135169253
Option 4 1D ; 37135169254

Status : Answered
Ans

Chosen Option : 4
Xi y2:2

wx 1]
Xs 2:\/5

Gl .

is 1 : \/2. If they are stretched by the same force, the ratio of increase in their

lengths is

P collegedunia:
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Q.35 L o . , — i '
A metal sphere of radius ‘R’, density ‘Q," moves with terminal velocity ‘'vi’ through Suestion Type e S
Question ID : 37135117332

Option 11D : 37135169328

a liquid of density ‘G". Another sphere of same radius but of density ‘0" moves Option 2 ID : 37135169326
_— _ o Option 3 ID : 37135169327
through same liquid. Its terminal velocity will be Option 4 ID : 37135169325

Status : Answered
Chosen Option ; 2

Ans
D=9
£ [ 10 2]V1
)
x2 |22 vy
Q,+0
| Q. +0
- [ 10 Z]Vl
0,—0
o 4 2 Vl
Q,—0
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Q.36
The variation of intensity of magnetisation (I) and the applied magnetic field

intensity (H) for three magnetic materials ‘X', ‘Y’ and ‘Z’ are shown in the graph as

0X, OY and OZ respectivley. The materials X', 'Y’ and ‘Z’ respectively are

I N i
Z
(0] > H
X
4

Ans

x paramagnetic, diamagnetic, ferromagnetic

x - diamagnetic, paramagnetic, ferromagnetic

xsferromagnetic, diamagnetic, paramagnetic
o 4

diamagnetic, ferromagnetic, paramagnetic

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chosen Option :

MCQ
37135117333
37135169329
37135169332
37135169331
37135169330
Answered

4
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Q.37

Ans

Q.38

Ans

A source of sound is moving with constant velocity of 30 m/s emitting a note of
frequency 256 Hz. The ratio of frequencies observed by a stationary observer
while the source is approaching him and after it crosses him is

[speed of sound in air = 330 m/s]

g g%

X
U1
@)

Vi 6:5

Two circular rings ‘A’ and ‘B’ of radii ‘nR"and ‘R’ are made from the same wire. The
moment of inertia of ‘A’ about an axis passing through the centre and

perpendicular to the plane of ‘A’ is 64 times that of the ring ‘B". The value of 'n’ is

X1 8

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D ;
Option 3 1D
Option 4 1D :

Status :

Chosen Option :

MCQ
37135117331
37135169324
37135169323
37135169321
37135169322
Answered

4

MCQ
37135117303
37135169212
37135169209
37135169211
37135169210
Answered

1
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Q.39 Question Type : MCQ

Question 1D ; 37135117336
Option 11D ; 37135169343
Option 2 1D : 37135169342
Option 3 ID ; 37135169341
Option 4 ID ;: 37135169344

Status . Answered
A Chosen Option ; 2

Which one of the following four graphs showing lines P, Q, R and S between

maximum Kkinetic energy (E) and intensity of incident light (1) is correct?

Ans
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Q.40 Question Type : MCQ

An em.f. E = Eo sin wt is applied to a circuit containing ‘L’ and 'R’ in series. Buedtion 10 ATI3ETHT358
— ; . e Option 11D ; 37135169349
If Xi. = R, then the power dissipated in the circuit is Srionid |0 37435169352

Option 3 1D ; 37135169351
Option 4 1D ; 37135169350
Ans Status : Answered

E
4R

Chosen Option : 1
1

Eo
nE g

X 3. E.
4R
X 4 E_%

2R
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Q.41 Question Type : MCQ

Question ID : 37135117310
Option 1 1D : 37135169240
Option 2 1D ; 37135169238
Option 3 ID : 37135169237
Option 4 ID : 37135169239
Status : Answered

Chosen Option : 1
T,T, p
N1N;

Two different radioactive elements with half-lives ‘T:" and “T2" have undecayed
atoms ‘N1’ and ‘N2’ respectively, present at a given instant. The ratio of their

activities at this instant is

Ans

N1Np

X2
T,T;
N;Tq
N 3
N, T,
N+T5
o 4

N,Ty
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Q.42
If length of oscillating simple pendulum is made 3 times at a place keeping

amplitude same, then its total energy (E) will be

Ans
K1 6 E
x> 4E
X 3 2 E
o 4
3 E
** Arod of length ‘L’ is hung from its one end and a mass ‘m’ is attached to its free
end. What tangential velocity must be imparted to ‘m’, so that it reaches the top of
the vertical circle? (g = acceleration due to gravity)
Ans

x+ 4./gL

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 11D ;
Option 2 1D ;
Option 3 1D :
Option 4 1D ;

Status :

Chosen Option :

MCQ
37135117311
37135169244
37135169243
37135169241
37135169242
Answered

1

MCQ
37135117316
37135169263
37135169261
37135169264
37135169262
Answered

1
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Q.44

Option 2 1D
37135169301

Option 4 1D ;
Ans Status :

. h=R (\/g . 1) Chosen Option :

surface at height ‘h’ then relation between ‘h" and 'R’ is [R = radius of the earth] Option 3 ID

X2 h=R
X s h=R(\/§—1)

X h=2R

Question Type :

When the value of acceleration due to gravity ‘g’ becomes (%) above the earth’s Question ID
* Option 11D ;

MCQ

37135117326
37135169303
37135169302

37135169304
Answered
1
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Q.45 Question Type : MCQ

A straight wire carrying current ‘I’ is bent into a semi-circular arc of radius ‘r’, as Question ID : 37135117323
Option 11D : 37135169291
shown. The magnitude of magnetic field at point ‘O’ due to semi-circular arc is Option 2 ID : 37135169289
Option 3 D : 37135169292
(Lo = Permeability of free space) Option 4 D : 37135169290

Status : Answered
Chosen Option : 1

Ans
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Q.46

focal length of each half will be Option 11D

Ans

v 2f

xXs 3f

The figure shows equiconvex lens of focal length * f'. If the lens is cut along AB, the Question Type
Question 1D .

- 37135169287
Option 2 1D

A Option 3 1D ;
Option 4 1D ;

Status

Chaosen Option :

MCQ
37135117322

37135169288
37135169286
37135169285
Answered

2
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Q.47 Question Type : MCQ

Question 1D : 37135117343
Option 11D ; 37135169370
Option 2 1D : 37135169371

In Young's double slit experiment, the distance between the slits is 3 mm and the

slits are 2 m away from the screen. Two interference patterns can be obtained on

the screen due to light of wavelength 480 nm and 600 nm respectively. The cption o 1D s aT1sBNE3d1 2
Option 4 1D : 37135169369
separation on the screen between the 5% order bright fringes on the two e AnEwared

Chosen Option : 1
interference patterns is

Ans _4
Xi. 6x10™*nm
-4
X2 8x107" m
; -4
X3 12x107™"m
-4
v 4x107" m
Q.44 : . : =3 = . : 3 Question Type : MCQ
The magnitude of the sum of the two vectors A and B is equal to the magnitude of Question ID : 37135117337
] g iy e — Option 1 1D : 37135169345
the difference of two vectors A and B. The angle between A and B is Option 2 ID : 37135169346
Option 3 1D ; 37135169347
Ans Option 4 1D : 37135169348

K1 3 O o Status : Answered

Chosen Option : 2

X2 45°
7 90°

x+180°
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Q.49

Ans

Q.50

Ans

Question Type :

Three black discs X, 'y, ‘2’ have radii 1m, 2m and 3m respectively. The Question ID :
Option 11D ;

wavelengths corresponding to maximum intensity are 200, 300 and 400nm Option 2 1D -
Option 3 1D ;

respectively. The relation between emissive powers ‘Ex’, ‘Ey’ and ‘Ez’ is Option 4 1D :
Status ¢

Chosen Option :

x+. Ex>Ey <Ez

K3

Ex< By < EzZ

xs EX=Ey=Ez

v* Ex>Ey>Ez

Question Type :
Question ID :
Option 11D
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status :

Chosen Option .

The magnetic property of magnetic substance is associated with

x+ spin motion of the nucleus.
o -

orbital and spin motion of electrons.

x s only orbital motion of electrons.

x . only spin motion of electrons.

MCQ
37135117335
37135169338
37135169339
37135169340
37135169337
Answered

4

MCQ
37135117345
37135169377
37135169379
37135169378
37135169380
Answered

4
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Q.1

Ans

Q.2

Ans

When aldoxime is treated with trifluoroperoxy acetic acid yields.

% 2°amine

X2 1° amine

~ - 1°nitroalkanes

x + 2° nitroalkanes

The catalyst used to convert sodium to sodium amide is

X1 V205

N 2 Pt

W - F@(NOg)g

X 4 Fe

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID ;
Option 11D :
Option 2 1D :
Option 3 1D
Option 4 1D ;

Status ¢

Chaosen Option :

MCQ
37135117359
37135169434
37135169433
37135169435
37135169436
Answered

2

MCQ
37135117390
37135169557
37135169558
37135169560
37135169559
Answered

2
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Q.3

Ans

Q.4

Ans

A first order reaction is 75 % completed in 60 minutes, the time required for it's
50 % completion is.

x 1+ 120 min
x2 60 min
X3 40 min
v 30 min

Which among the following is a monodentate ligand ?
x . Oxalato

v
x s Ethylenediamine

x « Dimethylgyoximato

Water

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 1 1D ;
Option 2 1D :
Option 3 1D ;
Option 4 1D :

Status :

Chosen Option :

MCQ
37135117380
37135169517
37135169518
37135169520
37135169519
Answered

3

MCQ
37135117388
37135169550
37135169549
37135169551
37135169552
Answered

3
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Q.5 Question Type : MCQ

Question ID ; 37135117400
Option 1 ID : 37135169597
Ans Option 2 ID : 37135169599
; Option 3 ID : 37135169598
v 1 54 pm Option 4 ID : 37135169600
Status ¢ Answered
Chosen Option : 2

What is bond length of C—C bond in alkane having all carbon atoms sp? hybrid ?

x2 133 pm

X3 112 pm

< 4 120 pm

S8 Question Type : MCQ
Which of the following reagents is used to convert phenol to benzene ? Question ID : 37135117369
Option 11D : 37135169475
Option 2 ID : 37135169474
Ans Option 3 1D : 37135169476

o /Zn (dUSt) Option 4 1D : 37135169473

Status : Answered
Chosen Option ; 2

x2 Na

x s KMnO, (acidified)

X 4 LIA1H4
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Q.7 Question Type : MCQ

Which among the following catalysts is used in the preparation dacron ? Question ID ; 37135117361
Option 11D : 37135169442
Option 2 ID : 37135169444
Option 3 1D : 37135169443

x 1 Oxygen Option 4 1D : 37135169441

Status : Answered
Chosen Option : 3

Ans

x - Titanium chloride and triethyl aluminium

»~: Zinc acetate and antimoney trioxide

x .+ Peroxide
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Q.8

Ans

Pure samples of copper carbonate synthesised in laboratory and found naturally if
both contains 51-35 % copper, 38:91 % carbon and 9-74 % oxygen by weight. This
is an accordance with

x + Law of combining volumes

x> Law of conservation of mass

x» Law of multiple proportion

+~ Law of definite proportion

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117355
37135169420
37135169419
37135169417
37135169418
Answered

2
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Q.9
Which among the following is a natural biopolymer of monosaccharides ?

™ . glycogen
x 2 Neoprene
x5 ollk
x « lsoprene
1% If van't Hoff factor of monofluoroacetic acid in water is 1:-076. What is it's degree
of dissociation ?
Ans

X+ 076

o 0'076

X s 0'924

x4+ 0538

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 11D ;
Option 2 1D
Option 31D
Option 4 1D ;

Status :

Chosen Option :

MCQ
37135117363
37135169452
37135169450
37135169451
37135169449
Answered

1

MCQ
37135117354
37135169414
37135169413
37135169416
37135169415
Answered

2

ey collegedunia;

India’s largest Student Review Platform



Q.n

Ans

Q.12

Ans

Question Type :
What is the molecular formula of pyrophosphoric acid Queglion i
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ; 37135169402
o H 4 Pz 07 Status : Answered
Chosen Option :

X 2 H3 PO4,

X 3 H4 P2 05
‘ Question Type :
How many methyl groups are present in butylated hydroxytoluene ? Question ID
Option 11D ;
Option 2 1D :
Option 3 1D :
- Option 4 1D ;
x % 6 Status ¢

Chosen Option :

MCQ

37135117351
37135169403
37135169404
37135169401

1

McQ
37135117399
37135169594
37135169596
37135169593
37135169595
Answered

2
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Q.13

Ans

Q.14

Ans

Identify the mineral from following containing aluminium
x . Magnesite

x> Haematite

v Cryolite
x « Siderite

Which following compound acts as a flux in extraction of copper from copper
pyrites

. CaSiOs,

x2 FeO

x 3. FES]O‘;

o - 5102

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D ;
Option 3 1D
Option 4 1D

Status

Chosen Option :

MCQ
37135117375
37135169499
37135169498
37135169500
37135169497
Answered

3

MCQ
37135117358
37135169432
37135169430
37135169431
37135169429
Answered

2
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Q.15

Ans

Q.16

Ans

Identify the molecule with linear geometry ?
x1 ClF,

x2 C,H,

v: BeF,

X 4 802

Which of the following is an emulsion ?
x 1 Butter
x . Jellies

v Milk

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D ;
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135117378
37135169512
37135169509
37135169510
37135169511
Answered

3

MCQ
37135117368
37135169469
37135169471
37135169470
37135169472
Answered

4
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Q.17 Question Type : MCQ

Which of the following is Clemmensen reduction ? Quelion 04 34 SIRTETH
ption 11D : 37135169495
Option 2 ID : 37135169496

Option 3 D : 37135169494
Zn-Hg/ conc.HCI Option 4 ID : 37135169493

v _CO_ 4 4[1_[] >_CH2_ + H20 Status : Answered

A Chosen Option : 3

Ans

H,

x 2 -CO-Cl > -CHO + HCl
Pd — BaSO,

X 3.
H,N-NH2 KOH/ethyleneglycol
-CH=0 > R-CH=N-NH, > -CH, + N,
~H,0 A
X 4

H
Sn Cl, H,O0% |

-C=N + 2[H] > -CH=NH.HCI »-C=0 + NH,Cl
dil HCl
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Q.18

Ans

Q.19

Ans

Which among the following has highest boiling point ?

x 1+ tert-butyl bromide
x> 1sobutyl bromide

+~ - n-butyl bromide
x « sec-butyl bromide

Which of the following drugs produce depression of central nervous system ?

x . Methyl salicylate
« - Codeine

x s lbuprofen

x + Paracetamol

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 11D ;
Option 2 1D
Option 3 1D :
Option 4 1D ;

Status !

Chosen Option :

MCQ
37135117386
37135169544
37135169543
37135169541
37135169542
Answered

3

McQ
37135117356
37135169424
37135169421
37135169423
37135169422
Answered

2
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Q.20

What is the molecularity and order of the following reaction if rate law is Suogion: iper e
: . Question ID : 37135117398
rate = K[O3][O] respectively ? Option 1 1D : 37135169591
OB(g) + O(g) _— 2 OZ(g) Option 2 ID : 37135169589
Option 31D : 37135169592
Ans Option 4 1D : 37135169590
x 5. 3 and 2 Status : Answered

Chosen Option : 3

x2 3and 1

v 2and 2

x« 4and 2
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Q.21

Which of the following reactions yields propan-2-ol ?

CH;Mg I/ether
X CHB'CO'CHg 4
H.,0*

(1) BoHg
X 2 CH3'CH=CH2 g
(i) H,0,

(i) cold.conc H, SO,

~ CH,-CH=CH,
(i) H,0

C,Hs;Mg Br/ether

X+ H-CHO *
H,0*

b

Question Type :
37135117367
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Question 1D

Status
Chosen Option

MCQ

37135169468
37135169466
37135169465
37135169467

Answered
'3
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Q.22
The heat of Combustion of acetaldehyde to carbon dioxide and water is —1172 K]

Question 1D
mol~!. Calculate amount of heat liberated when 66 g of acetaldehyde were Option 11D :
completely oxidised ? (at. massC=12,H=1,0 = 16) ggtl‘z: 2 :Ei

Ans Option 4 1D ;
Status
W 1758 k] Chosen Option ;

X3 6600 K]

x: 1172 K]
e Question Type :
Which of the following is used to convert olefins into aldehyde ? i
Option 2 1D
Option 3 ID :
ans Option 4 1D :
v H, and CO Status
Chosen Option :

X2 H,

xs CO and alkyne

X 4 CcO

Question Type :
1 37135117385

MCQ

37135169538
37135169539
37135169540
37135169537

Answered

1

MCQ

37135117387
37135169548
37135169547
37135169545
37135169546

- Answered

1
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Q.24 Question Type : MCQ

Which of the following molecules has zero dipole moment ? Queptian |37 8a11i 379
Option 1 ID : 37135169490
Option 2 ID : 37135169491
Option 3 ID : 37135169492
Option 4 ID : 37135169489

x 1 H 2 0 Status : Answered

Chosen Option : 3

Ans

)( 2 HzS

X5 NF,

o 4 C02
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Q.25

[dentify 'B" in the following reaction

C5H5MgBI‘
Benzonitrile ? A
ether

Ans

» Benzophenone

x> Benzaldehyde

X 3 Aniline

X« Diphenyl

H,O*

Br
~OH

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117352
37135169408
37135169407
37135169406
37135169405
Answered

4
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Q.26 Question Type : MCQ

Which among the following is ferromagnetic in nature ? e

Option 2 1D ; 37135169574

Option 3 1D ; 37135169576

Ans Option 4 1D : 37135169573
X1 Benzene

Status . Answered
Chosen Option : 3

x 2 Oxygen

»~ lron
x+ Water
Q.27 Question Type : MCQ
' . . . . Question 1D : 37135117366
Which of the following is a functional isomer of pentan-2-ol ? RN
Option 2 ID : 37135169464
Option 3 1D 37135169463
Ans Option 4 ID : 37135169462

X pentan-l-OI Status : Answered

Chosen Option ; 2
x> Pentan-2-one

» - Ethoxypropane

x « Pentan-3-ol
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Q.28

Ans

Q.29

Ans

Which among the following is NOT an amorphous solid ?

x 1+ Rubber
X 2 Butter
X 3.

. Camphor

Volume of a balloon at 25°C and 1 bar pressure is 2:27 L. If the pressure of the gas
in balloon is reduced to 0-227 bar, what is the rise in volume of a gas ?

x. 12:27 L
v
X 3

x. 10:227 L

Tar

7°73 L

10 L

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID ;
Option 11D :
Option 2 1D :
Option 3 1D
Option 4 1D ;

Status ¢

Chaosen Option :

MCQ
37135117384
37135169533
37135169534
37135169535
37135169536
Answered

2

MCQ
37135117362
37135169447
37135169445
37135169446
37135169448
Answered

3
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Q.30 Question Type : MCQ

Question 1D : 37135117370
Option 11D ; 37135169478
Option 2 1D ; 37135169479

[dentify the element if it's expected electronic configuration is [Ar] 3d*°4s=.

Ans Option 3 ID : 37135169477

X1 Hg Option 4 ID : 37135169480
Status : Answered
Chosen Option : 4

X 2 CO
N3 Cd
v+ Zn

Q.31 . . Question Type : MCQ
Which of the following groups does not show (— R) effect ? Quesion D STIS517396

ption :
Foe Option 2 ID : 37135169583

Option 3 1D : 37135169581

x 1 _CHO Option 4 ID : 37135169584

Status : Answered
Chosen Option : 3

x> -COOH

Xs -CN

7+ -OH
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Q.32

Ans

Q.33

Ans

What is the total number of ligands present in [COCI, (NH;),]Cl

When SO, is passed through acidified K,Cr,0- solution

x 1+ reduction of SO, takes place

x 2> the solution turns orange

x s the solution turns blue

»~ the solution turns green

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question ID :
Option 11D ;
Option 2 1D :
Option 3 1D
Option 4 1D :

Status

Chaosen Option :

MCQ
37135117393
37135169570
37135169571
37135169572
37135169569
Answered

2

MCQ
37135117381
37135169523
37135169522
37135169521
37135169524
Answered

3
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Q.34

Ans

Q.35

Ans

Identify thermoplastic polymer from following

X1

Bakelite

X2 Nylon-6

+~ - Polystyrene

x+ Neoprene

Molar conductivity of 0:01 M HCI solution is 400-0 Q tcm?mol™!. Calculate the

conductivity of HCI solution.

X1 40x107*Q tecm™!

x2 80x107 %0 cm™1L

x: 2:5%107°Q cm™t!

v

4-0x1073Q tem™!

Question Type :

Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :

Question ID :
Option 11D :
Option 2 1D
Option 31D
Option 4 1D

Status .

MCQ
37135117395
37135169580
37135169578
37135169579
37135169577
Answered

1

MCQ
37135117392
37135169567
37135169565
37135169568
37135169566
Answered

Chosen Option : 4
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Q.36

Ans

What will be the molar mass of solute if vapour pressure of pure benzene is 450 mm
Hg when 1'5 g of non volatile solute is added to 30 g of benzene ?
(Vapour pressure of solution = 400 mm Hg, atomicmass C=12, H=1)

v 351 gmol™!
x: 26'1 gmol™?

x: 284 gmol™!

x+ 30-0 g mol™!

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117383
37135169531
37135169529
37135169532
37135169530
Answered

1
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Q.37

Ans

Which of the following reagents is used in Mendius reduction reaction of alkyl
cyanide ?

X1 Sn/HCl

x 2 LiAlH,/Ether

x: Na-Hg/H-,0

v Na/C,H-OH

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117376
37135169501
37135169503
37135169504
37135169502
Answered

4
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Q.38

Ans

During discharging the change taking place at cathode in lead accumulator is

x 1 Pb(g) is oxidised to Pb(aq)

Pbst

5 PPla) is oxidised to PbO;q

v+ Pb0O,) is reduced to Pb(aq)

X Pb(qq) is reduced to Pb

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117364
37135169454
37135169456
37135169453
37135169455
Answered

3
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Q.39

Ans

The number of optical isomers possible for 3, 4-dichloropentan-2-ol is

x1 Two

x 2 Sixteen

.. Eight

x . Four

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117353
37135169409
37135169412
3713516941
37135169410
Answered

1
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Q.40 Question Type : MCQ

Which of the following formula correctly gives the value of ebuillioscopic Question D : 37135117377

constant ? Option 1 1D : 37135169507
Option 2 ID : 37135169506
Ans Option 3 1D ; 37135169505
W, X 1000 Option 4 1D : 37135169508
x 1 1 Status : Answered
A Tb X W2 X ME Chosen Option : 3
W, X 1000
X 2

ATy X WX M,

Mz Xﬂ.TDXWZ

X 3
W,
ATyXM, X W4
v W,
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Q.41
When 1 mole of gas is heated at Constant volume and heat supplied is 500 ] then

which of the following is correct ?

Ans
x+ Au=—05],q=—500]
x2q=-=500],Au=0
s q=500],w=0
x: w=500], Au=0
Q.42
What is the mass of bcce type unit cell of sodium if mass of one atom of sodium is
3:819 X 107%3 g ?
Ans

x1 7038 x 107%° g

L. 7638%x 10723 g

x: 3819 x 1073 g

x4 1:5276 X 10—22 g

Question Type :
37135117371
: 37135169484
1 37135169483
: 37135169482
: 37135169481
- Answered

Chosen Option :

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status

Question Type
Question ID

Option 2 1D
Option 3 1D

Status

MCQ

3

' MCQ
0 37135117360
Option 1 1D :

37135169439

: 37135169440
: 37135169437
Option 4 1D :

37135169438

. Answered
Chosen Option :

2
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Q.43

Ans

Q.44

Ans

. y . . Question Type :
[f n is the number of asymmetric carbon atoms, the number of optical isomers

Question ID ;
possible is given by formula Option 11D .
Option 2 1D
Option 3 1D ;
2 Option 4 ID :
x % n Status ¢
Chosen Option :
1
N —
2
X3 2n
11
i 2

Question Type :
Question ID :
Option 1 1D ;
Option 2 1D :
Option 3 1D ;
Option 4 1D :

Status :

Chosen Option :

Carbon is present in highest oxidation number in

MCQ
37135117379
37135169514
37135169515
37135169513
37135169516
Answered

4

MCQ
37135117365
37135169458
37135169457
37135169460
37135169459
Answered

1
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Q.45

Ans

Identify the productY in the following series of reactions.

(CH3C0),0/Cr03

4-Nitrotoluene
273 — 278K

~ 4-nitrobenzaldehyde

x - Benzaldehyde

x 3 4-nitrobenzoic acid

x+ Acetophenone

LY
i

X

H,O"

A

b

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

MCQ
37135117357
37135169426
37135169428
37135169425
37135169427
Answered

2

collegedunia:

India’s largest Student Review Platform



Q.46

Ans

Q.47

Ans

Noble gas used in miner's cap lamp is

K1 Ra

Which among the following elements is radioactive?

X1 Lu

X 2 Nd

xs3 Eu

v+ Pm

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status ;

Chosen Option :

MCQ
37135117391
37135169564
37135169561
37135169562
37135169563
Answered

2

MCQ
37135117397
37135169588
37135169586
37135169587
37135169585
Answered

4
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Q.48 Question Type :

What is the work done when 2 mole of an ideal gas are expanded isothermally and

Question ID
reversibly from 5 m’to 10 m*at 300 K? (R =8:314 ] K™ 'mol™") Option 11D :
Option 2 1D
Anis Option 3 1D ;
Option 4 1D ;
X 1 _34'58 k] Status :
Chosen Option :
X 2 3'458 k]

X3 —1/28 k]

o ¢ "'3'458 k]

Q.49 . Question Type :
The reaction in which copper (1) salt is used to replace nitrogen in diazonium salt Question ID
1S CH“Ed, Option 11D :

Option 2 1D

Ans Option 3 1D :

. Option 4 1D ;
v Sandmeyer reaction Status

Chosen Option :

x » Hoffmann elimination

x s Gattermann reaction

x« Balz - Schiemann reaction

MCQ
37135117389
37135169555
37135169553
37135169556
37135169554
Answered

4

MCQ

37135117382

37135169525
37135169528
37135169526
37135169527
Answered

1

T
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Q.50 Question Type : MCQ

Which among the following sugars does not reduce Tollen's reagent ? Question ID ; 37135117372
Option 11D : 37135169487

Option 2 1D : 37135169486
Ans Option 3 1D : 37135169485

x 1 RibOSE Option 4 1D ; 37135169488

Status : Answered
Chosen Option : 2

x > Lactose

x s Maltose

v+ Sucrose

@1 A die is thrown 100 times. If the success is in getting an even number, then the Question Type : MCQ

. f b f : Question 1D 37135117428
variance ol numper ol SUcCcesses 1S Option 1 1D : 37135169711

Option 2 1D : 37135169710
K1 1 O Option 3 ID : 37135169709
Option 4 ID : 37135169712

Status : Answered

Y 2 5 Chosen Option : 2

X2 50
%+ 100
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Q.2 Question Type : MCQ

Question 1D : 37135117418

. T LA .
If a line makes angles of measure — and — with X and Y axes respectively, then the Option 11D : 37135169672
6 3 Option 2 ID : 37135169669
angle made by the line with Z axis is Option 31D ; 37135169670
Option 4 1D : 37135169671
Ans T Status : Answered
o T Chosen Option : 2
6
. L
v
2
T
N -
4
T
/K 4 —
Q.3 dy Question Type : MCQ
[fy = SeC (tan 1_‘)(,'), then—atx=11is Question ID ; 37135117431
X Option 11D : 37135169724
Option 2 ID : 37135169722
Ans Option 3 1D : 37135169723
X1 2 Option 4 1D : 37135169721

Status . Answered
Chosen Option : 1
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Q.4

Question Type :
2)1‘___1 ] i Question 1D
If f(x) = ( ), for x # 0 is continuous at x = 0, then f(0) = Coteny 10
1=-3% Option 2 ID :
Option 3 1D ;
Rns Option 4 1D ;
Status :
X1 ]0g3 Chosen Option :
~(log2)
(log3)
log2

sy LOEZ)

(log3)

X+ —log2
Q.5 : ; ; . 55 5 . dy Question Type
The order and degree of the differential equationy = px + \/a p- + b<, where p = o el T
. Option 11D ;
are respectively Gotion 2 ID'
Ans Option 3 1D
v 1, 2 Option 4 1D
Status :

Chosen Option :

xz 3,1
xs 2,1

L B

MCQ

37135117414

37135169655
37135169656
37135169653
37135169654
Answered

2

MCQ
37135117442
37135169768
37135169766
37135169765
37135169767
Answered

1
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@®  The parametric equation of the line passing throught the points A (3, 4, —7) and

B(1,—1,6)are

T oxix =143\ y=—1+ 47 z=6-7A
X2 x = —2+3Ay=-5+4A z=13 — 7A
viX =3 —2A y=4-5A, z=—7 + 13 A
xex =3+ A y=—-1+4A z=-7 +6A

| 1—cos2
The general solution of —— = Fis

1+cosZx

i x1x=2nni3,nez

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chosen Option :

Question Type !
Question ID :
Option 11D
Option 2 1D
Option 31D ;
Option 4 1D :

Status :

Chosen Option ;

MCQ
37135117411
37135169641
37135169644
37135169643
37135169642
Answered

3

MCQ
37135117435
37135169739
37135169738
37135169737
37135169740
Answered

2
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Q.8

2 Question Type :
1 37135117444

Question 1D :
dx Option 11D ;

Option 2 1D

Ans

' log2

2 1+log?2

log2

o 3
(1+log2)
1
X 4
(1+log2)

Option 3 1D ;

x(1 + logx)?

Status :
1 Chosen Option :

MCQ

37135169773
37135169774
37135169775
37135169776
Answered

1
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Q.9

The area of the region included between the parabola y2 = x and the line x+y=2 in

the first quardrant is

Ans 1 -
X =Sq. units
. 7 :
v? - Sq. units
1 .
" > Sq. units
2 :
X+ 3 8Q. units
Q.10 31-[
If sin"'x + sin"'y +sin"'z = |
Ans

then xlOU + ylﬂﬂ i ZlUU=

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

Question Type :
Question 1D :
Option 11D :
Option 2 1D ;
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135117436
37135169742
37135169741
37135169744
37135169743
Answered

2

MCQ
37135117432
37135169728
37135169727
37135169726
37135169725
Answered

1
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Q.n

Question Type :

MCQ

. o 1 o : o o o P Question ID : 37135117441
If sinB = sin15° + sin45°, where 0° < 0 < 180°, then 0 = e
A Option 2 ID : 37135169762
; o Option 3 ID : 37135169761
v 75 Dgtmm ID : 37135169763
Status ; Answered
x 5 1500 Chosen Option : 1
X5 45°
x4+ 60°
Q.12 . 2 . Question Type : MCQ
The approximate value of f(x) = 3x“+5x+3 at x = 3:02 is Question ID - 37135117424
Option 11D : 37135169694
Ans Option 2 ID : 37135169693
X1 45 . 76 Option 3 ID ; 37135169695
Option 4 1D : 37135169696
Status . Answered

: Chosen Option : 2
v 4546

X 44476

X+ 44 46
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Q.13

The equation of the curve whose slope at any point is equal to 2xy and which passes Cysstion: Type:

Question ID :
through the point (0,1) is Du:tf:':? i
Option 2 1D
Ans
| ] 2 Option 3 1D ;
o — Option 4 ID :
ogy x Status :
Chosen Option :
] 1
X2 10 —_— =
==
1
Ko —— X
y
x+ logy =X
Q.14 . _ ) ) Question Type :
The rate of increase of population of a country is proportional to the number present. Quastion 1D
If the population doubles in 50 years, then the time taken by it to become four times gpﬂ"” ; :E:
tion :
of it self is Dstiun 31D
o Option 4 1D :
Status :

x 1 300 years

Chosen Option :

v 100 years

#2200 years

x+ 400 years

MCQ
37135117437
37135169745
37135169748
37135169747
37135169746
Answered

4

MCQ
37135117429
37135169715
37135169713
37135169714
37135169716
Answered

2
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“® The sum to 10 terms of the series 1x 32+ 2 X52 + 3 X 72 + .cocvurernn. IS sueslion Lpe

Question 1D
Ans Option 11D ;

N 1 13,495 Option 2 1D :

Option 3 1D ;
Option 4 1D ;

X 215’595 Status :

Chosen Option :

313,000

v+ 13,695

Q.16

Ifa, b,Carenon - coplanarvectosand(a +b +¢):(a Xb +bxtc +cxa)=k|abt], Q”;S”“T_ T'”E :
uestan ;

then value of k is Option 1 1D
Option 2 1D
Ans x 1 4 Option 3 ID
Option 4 1D :

Status
K 2 1 Chosen Option ;

MCQ

37135117416

37135169662
37135169663
37135169661
37135169664
Answered

2

MCQ
37135117419

: 37135169675

37135169673
37135169674
37135169676

. Answered

4
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Q.7

Question Type :
g x—1 +1  z-1 x=3 -k 7 ] Question ID
If the lines - Y3 = —and = y2 = —interect, then the value of the k is Option 1 1D
_ % . 1 Option 2 1D :
Ans Option 3 1D :
- 2 Option 4 1D :
;< T — Status :
9 Chaosen Option :
9
v o=
2
3
X3 —
i
Q.18 ) ) ] ] . a%+b? : Question Type :
with usual notations, if triangle ABC is right angled at C, then (32—1}2) sin (A—B) = i 1
Option 11D
Ans _ Option 2 ID
X 1. 3 Option 3 ID :
Option 4 1D
Status
W

Chosen Option :

MCQ

P 37135117413
: 37135169651

37135169650
37135169649
37135169652
Answered

2

- MCQ
137135117422

37135169687

: 37135169688

37135169685
37135169686

- Answered

2
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Q.19

Suppose that 5% of men and 0-25% of women have gray hair. A gray hair person is
selected at random. If there are equal number of males and females, then the
probability that the person selected being men is

The joint equation of two lines through the origin each making an angle of 30° with

Ans 20
o ——
21
10
Wi —
21
1
N —
21
11
X4 —
21
Q.20
the Y - axis is

X1 x4 — 3y*=0

|
-

X2 x* + 3y°

v 3x2 — y? =0
X+ 2x% — 3y =0

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status .

Chosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status ;

Chosen Option :

MCQ
37135117420
37135169677
37135169679
37135169678
37135169680
Answered

2

MCQ
37135117404
37135169613
37135169616
37135169614
37135169615
Answered

1
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Q.21
The element in the third row and first column of the inverse of the matrix

1. -3 2
-3 3 ~L[15
2 —1 0
Ans
X1 =3
X2 4
o S 3
X4 2
Q.22
The centre of the hyperbola 9x* — 36x — 16y* + 96y — 252 = 0 is
Ans

x. (=2,-3)
x2(2,—3)
x:(=2,3)

s (2,3)

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

Question Type :
Question 1D :
Option 11D
Option 2 1D ;
Option 3 1D :
Option 4 1D

Status ;

Chosen Option :

MCQ
37135117406
37135169621
37135169623
37135169624
37135169622
Answered

2

MCQ
37135117426
37135169702
37135169704
37135169703
37135169701
Answered

2
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Q.23

The distance between the lines given by 3x+4y = 9 and 6x+8y=15 is

Question ID ;
Option 11D ;
Ans Option 2 ID :
X 5 units [
Status :
Chosen Dptiton :
X2 3 units
xs 0-5units
v 0-3 units
Q.24 |
T 5 . Sx dzy Duesnonl Type
lfy — COSZ (—) — San (_), then (_) — Ctl)ue_stmn IDi
; : da® i
Ans Dpt?un 31D
X1 =51-y? .

Question Type :

Chosen Option ;

MCQ
37135117447
37135169787
37135169785
37135169788
37135169786
Answered

2

MCQ
37135117427
37135169705
37135169708
37135169706
37135169707
Answered

4
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Q.25 Question Type : MCQ

(y_'_ e) (Y'[‘E) (Y + o DO) dy Dueftion ID: 37135117434
Ifx = e then = = Option 11D : 37135169733
) dx Option 2 ID ; 37135169736
Option 31D ; 37135169734
Ans Option 4 1D ; 37135169735
Status : Answered
o 1 —X Chosen Option : 3
X
1+x
X2
X
1
X3
X
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Q.26

Ans

X

P

X

X

Tt
2
TC
2
TC
4

=

dx

Question Type :
0 37135117417
: 37135169666
: 37135169665
. 37135169667
: 37135169668
- Answered

Chaosen Option :

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status

MCQ

3
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**" " Ifthe position vectors of the vertices A, B, C of a tringle ABC are 4i + 7j+8k, 2i + 3j+4k Question Type : MCQ
i Question 1D ; 37135117425
and 21 4+ 5] + 7k respectively, then the position vector of the point where bisector of Option 11D : 37135169698
angle A meets BC iS Dptiﬂn 21D : 37135169697
Option 3 ID : 37135169699
Ans Option 4 1D : 37135169700

Status : Answered

1, . . ~

X 1 g (6!, + 11] + 15k) Chosen Option ; 2
1 A Fa) .

s 5(4: + 8] + 11k)

1, ) .
X Z(SL + 14] + 19k)

L . ~
< 7 (61 +13j + 18k)
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Q.28

X . ] .
Iff(x) =—, if0 < x < 4 Duesnonl Type : MCQ
8 Question ID ; 37135117415
= 0, otherwise Option 1 1D : 37135169659
. oy . . . ; . Option 2 ID ; 37135169657
is probability density function (p.d.f) of c.r.v. X and F(x) is c.d.f. associated with f(x), Option 3 ID : 37135169658
then F (0-5)= Option 4 ID : 37135169660
Status : Answered
Ans 1 Chosen Option : 3
vi —
N2 o
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“® The measure of the angle between the lines x? + 2xy coseca + y?> = 0 is

Ans

v — — &
2
T

X2 — + «
2

X3 @

X« M —

**Ifa = 2143) + k, b = 414+5] + 3k and ¢ = 614] + 5k are the position vectors of the
vertices of a triangle ABC respectively, then the position vector of the intersection of
the medians of the triangle ABC is

Ans

v 47437 + 3k

Xz 2i4+3]+ 3k
xs 51437 + 3k

X+ 37437 + 4k

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chosen Option :

Question Type

MCQ
37135117438
37135169749
37135169751
37135169750
37135169752
Answered

1

. MCQ
Question ID :
Option 11D :
Option 2 1D :
Option 31D ;
Option 4 1D :

Status :

Chosen Option :

37135117440
37135169760
37135169757
37135169758
37135169759
Answered

1
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Q.31
If p:Seema is fat.

q : She is happy,

then the logical equivalent statement of 'If Seema is fat, then she is happy' is

Ans x+ Seema is not fat or she is unhappy.
v Seema is not fat or she is happy.
# > Seema is fat and she is happy.
x« Seema is fat or she is happy.

N [(1+x)logx dx =

X1 (x + x;)logx+(x x:) -G
v (x 4 x?z)logx—(x i §)+C
xa.(x + x;) logx—(x 2) - C

e+ D)tog (e + %) e

59

IS

=

Question Type :
Question ID
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status

Chosen Option :

Question Type :
Question ID :
Option 11D ;
Option 2 1D
Option 3 ID
Option 4 1D ;

Status

Chosen Option :

MCQ

37135117430

37135169720
37135169719
37135169717
37135169718

Answered

2

MCQ

37135117408
37135169632
37135169629

: 37135169631
37135169630
- Answered

3
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Q.33 Question Type : MCQ
T[ Question 1D : 37135117421

e COSX Option 1 1D : 37135169684
f Option 2 ID : 37135169683

x e Option 3 1D ; 37135169681
e cosSx + € _COS.X') Option 4 ID : 37135169682
Status - Answered
0 Chosen Option : 1
Ans
=1L
X1 —
X2 —TI
Xs I
T
J"’ —
Qs x S : Question Type : MCQ
The equation of a plane containing the point (1, —1, 1) and parallel to the plane |
. Question 1D ; 37135117443
2x+3y—4z=171s Option 11D : 37135169769
Option 2 ID ; 37135169771
Ans

-~ Option 3 1D : 37135169770
< T.(20-3]-4k) = 1 P —
Chosen Option : 1
X2 T.(I—f+k)= 3
v 1. (204 3] —4k) = =5

% F (20 + 3] — 4k) = 5
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Q.35

. o - - S d : Question Type : MCQ
The solution of the differential equation sin™! (—y) = x+VIis Question ID ; 37135117445
dx Option 1 1D ; 37135169779

Option 2 1D : 37135169777

s x t + + + Option 3 1D : 37135169778
8 x A— a . ion ;
Aoty seclx iy +c e {8 i
Chosen Option : 1
v: x =tan(x+y) — sec(x+y) + ¢
xs x =tan(x+y) + sec(x+y) + ¢
X+ x =tanx.tany +
Q.36

Question Type ; MCQ

f x+1 dx . Question 1D : 37135117402

2 - Option 1 1D : 37135169607
X“+5x+6 Option 2 ID : 37135169605

Option 3 1D : 37135169608
Ans Option 4 ID : 37135169606

Xv =log |x +2| =2 log |x+ 3| +C Status : Answered

Chosen Option : 3

v: —log|x+ 2|+ 2log|x + 3| +C

x: 2log |x + 2| — 2log |x + 3| +C

X+ log|x + 2|+ 2log |x + 3| +C
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Q.37 Question Type : MCQ

Question ID ; 37135117412
are Option 11D : 37135169647

Option 2 ID ; 37135169646

Ans Option 3 ID : 37135169648

x 1 Domain — {2;3}, Range — {5} Option 4 ID : 37135169645

Status . Answered

The domain and range of the relation R given by R = {(x, y)/y =x+ ;x, y€Nandx < 6}

Chosen Option : 3

x> Domain = {1,2}, Range =1{5,7}.
x- Domain = {1,2,3,4,5}, Range =1{7,5,2,2},

4’5

»~+ Domain = {1,2,3}, Range = {5,7}.

Q.38 , :
2.1’2 +3 x —1 1 % Queshr:m. Type MCQ

T— | - — Question 1D : 37135117405
lff (x2-1) (x2+4) dx = a log x4+1 | b tan (2) + C ’ then Option 11D : 37135169620
Option 2 1D 37135169618
Option 3 1D : 37135169619
AR 1 1 Option 4 1D : 37135169617

7 qQ=- b — - Status : Answered

2’ 2 Chosen Option : 3

X
Q
|
|
=
o
|

X3 d=
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Q.39

The negation of the logical statement (pVv ~q) = (p A ~q) is

" e (pA ~q)A(p V~q)

“ (pv~q@A(~pVq)

xs(pv ~qA(p A Q)

x«(pVv ~q)V(~p AQq)
" The minimum value of f(x) = a?cos?x + bZsinx ifa?> b?, is
e uB

o b 2

X3 a’+b?
2

X4 q

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

Question Type

MCQ
37135117409
37135169636
37135169634
37135169633
37135169635
Answered

2

- MCQ
Question ID :
Option 11D
Option 2 1D
Option 3 1D
Option 4 1D

Status ;

Chosen Option :

37135117410
37135169640
37135169638
37135169639
37135169637
Answered

3
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Q.41 Question Type : MCQ

The equation of the circle, the end-points of whose diameter are the centres of the .
Question ID ; 37135117433

circles x% + yz —2x+3y—3=0and x? + y2 +6x—12y—5=20Is Option 11D : 37135169732
Option 2 ID ; 37135169729
Ans ) v Option 3 ID : 37135169730
W Zx + Zy + 4x —_ 9Y e 24 — 0 Option 4 1D : 37135169731
Status ; Answered
Chosen Option : 3
X2 2x4 4+ 2y +4x+9y—24=0
X2 2x° + 2y +4x —9y +24 =0
Xe 2x4 4+ 2y —4x —9y—24=0
“* The integrating factor of the differential equation y logy (3—;) + x — logy = 0 e e st 17440
. Option 1 1D : 37135169791
1S Option 2 ID : 37135169789
Ans Option 3 ID : 37135169790
X 1 log (log Y) Option 4 ID : 37135169792
Status : Answered

v logy
X3 Y

X 4 ey

Chosen Option :

3
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%4 Ifa discrete random variable X has probability distribution as follows Question Type : MCQ

Question 1D : 37135117450

_ Option 11D ; 37135169800
A= X L 1 2 3 Option 2 ID : 37135169797
P[X = x| k 3k 3k k Option 3 1D : 37135169799
Option 4 ID : 37135169798
Status : Answered
Then var (X) = Chosen Option : 1
Ans 3
o 1. =
> i (ra—
X3 —
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Q.44

The minimum value of the objective function Z = 5x + 8y, subject to x + y = 5, D”:”“':T—*’Tg’
uestion !
x<4,y<2,x20,y =0 occur at the point gp:’”” ; :E:
ption ;
Ans Option 3 1D :
(5.0 Option 4 1D .
x ( : ) Status :
Chosen Option :
3
**(0,5)
%o (4,2)

7 (4,1)
Q.45 1 ) i _ . . Question Type :
If A = [_5 J and A= = xA+ yl, where 1 is unit matrix of order 2, Question ID :
Option 11D ;
then the values of x and y are respectively Option 2 1D -
Option 31D ;
Ans 1 2 Option 4 1D :
x e — Status
11 ) 11 Chosen Option :

MCQ
37135117449
37135169793
37135169795
37135169796
37135169794
Answered

2

MCQ
37135117401
37135169603
37135169601
37135169604
37135169602
Answered

2
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Q.46

: i — 2 __ 3 : Question Type : MCQ
If the line y = 4x —5 touches the curve y* = ax” + b at the point (2,3), then cdtion 15 APRSETHTED
Ane Option 1 1D : 37135169756
Option 2 1D - 37135169754
X a = —2 , b 2= —7 Option 3 ID : 37135169753
Option 4 1D : 37135169755
Status ; Answered
s T— —2 , b — 7 Chosen Option : 3
v+ g=2 .b=-—7
Xeag=2 ,b=7
Q.47 : ; : | |
If A, B, C, D are the angles of a cyclic quadrilateral taken in order, Suogion: iper e
Question 1D ; 37135117407
thencos A+ Cos B+ CosC+ CosD = Option 1 1D : 37135169627
Option 2 ID ; 37135169626
Hng Option 3 ID ; 37135169628
Xt —1 Option 4 1D : 37135169625
Status . Answered
1 Chosen Option : 4
X 2

2
2
0
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Q.48

Iff(x) = % , XeR — {%}, then
T () = f()
x2 f~1(x) does not exist.
xs f[f(x)] = —x
x«f~1(x) = —f(x)
" Iftan® + cotd = 4, then tan*0 + cot*0 =

v 194
x2110

X380
x+191

Question Type :
Question ID ;
Option 11D ;
Option 2 1D
Option 3 1D ;
Option 4 1D ;

Status :

Chaosen Option :

Question Type :
Question 1D :
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Option 2 1D ;
Option 3 1D :
Option 4 1D
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Q.50

The angle between the line Queston ID

Question Type :
: 37135117446
Option 11D ;
Option 2 1D
Option 3 1D ;

r=({+2j—k)+ A -]+ k) and the plane sl o
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